NEIGER Y ICL- 14 Dezimalzahlen | Dividieren mit Dezimalzahlen

Dividieren: Dividend ist eine Dezimalzahl

Lésungsblatt
Level 1:
252:6=4,2 21,2:4=5,3 51,8:7=17,4 475:5=9,5
12 12 28 25
OR. OR. OR. OR.
38,1:3=12,7 93,6 :4 =234 4104 :8=51,3 330,3:9=36,7
08 13 10 60
21 16 24 63
OR. OR. OR. OR.
58,8:8=7,35 146,55 :5 = 29,31 108,12 : 6 = 18,02
28 46 48
40 15 01
OR. 05 12
OR. OR.
Lésungen
Level 2:
55,2:12=4,6 91,3:11=28,3 106,5:15=17,1 142,5:25=5,7
7 2 33 15 175
OR. OR. OR. OR.

695,2:22=31,6

327,6 : 14 = 23,4

486,7 : 31 = 15,7

862,4:28 =30,8

35 47 176 22
132 56 217 224
OR. OR. OR. OR.
173,25 : 45 = 3,85 30,69 :33=0,93 947,7 : 26 = 36,45 E]..-_- El
382 306 167 il
225 99 117 _ﬂ%
OR. OR. 130 [m] E
0 R. .
Losungen
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